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QUESTION 1

An engineer needs to automate the configuration on a Cisco NX-OS switch. The solution must meet these
requirements:

Ansible is used The transport protocol is encrypted Support for Asynchronous requests.
Which two access mechanisms must be used? (Choose two.)

A. SNMP Version 2c

B. NETCONF

C. NX-API

D. HTTPS

E. JSON-RPC

Correct Answer: BD

QUESTION 2
DRAG DROP

Drag and drop the code from the bottom onto the box where the code is missing in the Python code to complete the
greeter function white also mitigating against XSS threats. Not all options are used.

Select and Place:
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from datetime import datetime
from flask import Flask, request, make_response, escape
from flask wtf.csrf import CSRFProtect

csrf = C3RFProtect (app)

def time():
now = datetime.now()
current_time = now.stritime (“"$H:4M:43%)
return make_response("Current Time: " + current_time)

def gzeetex():
first_name * request.args.get("name', '°‘)
return make_response ("Your name: " +

first_name app = Flask(_name ) E;pp.Etei'Itime'l
Rapp.route('/greeter’) escape ({irst name) last_name

Correct Answer:

from datetime import datetime
from flask import Flask, request, make_ response, escape
from flask wtf.csrf impozt C3RFProtect

app = Flask(_name )

carf = CIRFProtect (app)

|’ @app.goute (*/time’)
def time():

now = datetime.now()

current_time = now.strfitime (“BH:4M:43")

return make_response ("Current Time: " + current_time)

fapp.route('/greater')

def greeterxr():
£izst_name = regquest.args.get(“name', '‘)

return make_response("Your name: " + first_name
ot -
escape (first_name) last _name
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QUESTION 3

DRAG DROP

Resource Owner

User Agent Authorization
(Browser) Server

F 3

Client

OAuth2 three-legged authorization code grant.

Refer to the exhibit. Drag and drop the steps from the left into the correct order of operation on the right for a successful
OAuth2 three-legged authorization code grant flow.

Select and Place:
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Answer Area
Client initiates the flow. step 1
The authorization server authenticales the client,
validates details sent, and responds with an access step 2
token.
The authonization server redirects the user-agent gigna
back to the client using the redirection URI provided| =
The authorization server authenticates the resource
step 4
owner.
The client requests an access token from the
authorization server's token endpoint. step 5
Correct Answer:
Answer Area
Client initiates the flow.
The authorization server authenticates the resource
owner.
The authorization server redirects the user-agent
back to the client using the redirection URI provided
The client requests an access token from the
authorization server’s token endpoint.
The aulhonizalion server aulhenticales he clent,
validates details sent, and responds with an access|
token.
QUESTION 4
DRAG DROP

Drag and drop the steps from the left into the sequence on the fight to implement an OAuth2 three-legged authorization
code flow grant type in an application. Not all options are used.

Select and Place:
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Usng the user cradentials, the sppbcation requests an de 1
Irhurumm:memm oo 2
and athorge consent.
Using tha Juthonzation token, protected AP calls can then be steo 3
made.
Using the code generated dunng login, protected APT calls can
then be made.
Usng the code generated dunng login, the apphication requests
an authorizabion.
Correct Answer:
Usng the user cradentials, the sppbcation requésts an de 1
Irhmrudrnudulhwwmmﬂtm oo 2
and athorge consent.
Using the Juthonzation token, protected APl calls can then be steo 3

made.

Using the code generated duning login, protected APT calls can
then be mude.

Uming the code genarated dunng logn, the apphicabion regusits
an authorization.

QUESTION 5

How is AppDynamics used to instrument an application?

A. Provides visibility into the transaction logs that can be correlated to specific business transaction requests

B. Enables instrumenting a backend web server (or packet installation by using an AppDynamics agent

C. Retrieves a significant amount of information from the perspective of the database server by using application

monitoring

D. Monitors traffic flows by using an AppDynamics agent installed on a network infrastructure device

Correct Answer: A
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